)

Simplify:
1 _3i‘_£3.2§i
xlO 27 2
x2—5x+6
3, X =8r+l5 x*=9
x-2 x2 +3x
x-5
x+5 2x

x2 +10x+25 x2-25

2 _ - -
-2x 5x+x 2+2x 3

x24+7x  x+7

X

Name: Per:
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2 4x-8 3 +x%2—6x
! +

xz-x-6 x2 -9

x%-49
4. -4  3x-12
x=7 %2 +14x+49
x+5

6. 2x+l_x2-9
"o 2x-1 4x2__1
x+3
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Solve each equation. Check your solution.

g X-15_x-12 o X=2_,_2x+3 10 3.1_1
x+5 x X ¥ S

T x-2 x+2 42_4 " x-2 5 5

Answers:
1
1. Sair X *0

; x%# 0,4+3,1£2

4

x(x+2)’
Zix#2,£35
x+5

3(x+7)'x #* +7,4,-5
;—_—;,x # 45
o'x * iil _3

X

N e nm s w N

_3) x$0-7

X

8-12 you are suppose to check your answers by plugging them into the ongmal - ’\
equation to show they work. -
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